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Question 1

Question Type: MultipleChoice

Which are two advantages of a "one switch at a time" approach to integrating SD-Access into an existing brownfield environment?
(Choose two.)

Options:

A) appropriate for campus and remote site environments

B) ideal for protecting recent investment s while upgrading legacy hardware
C) involves the least risk of all approaches

D) allows simplified roll back

E) opens up many new design and deployment opportunities

F) allows simplified testing prior to cutover

Answer:

A, B



Question 2

Question Type: MultipleChoice

What is the easiest way to enable SD-Access for all your remote site after you have your campus SD-Access fabric up and running?

Options:

A) Treat all the sites as one fabric domain and use the traditional physical network as the underlay
B) Use a separate fabric domain for each site and use SD-WAN as the underlay
C) Use a separate fabric domain for each site and use the traditional physical network as the underlay

D) Treat all the sites as one fabric domain and use SD-WAN as the underlay

Answer:

A

Question 3

Question Type: MultipleChoice




Which are two advantages of a "one switch at a time' approach to integrating SD-Access into an existing brownfield environment?
(Choose two.)

Options:

A) appropriate for campus and remote site environments

B) allows simplified testing prior to cutover

C) deal for protecting recent investments while upgrading legacy hardware
D) involves the least risk of all approaches

E) opens up many new design and deployment opportunities

F) allows simplified roll back

Answer:

B, E

Question 4

Question Type: MultipleChoice




Which three key differentiators that DNA Assurance provides that our competitors are unable

match? (Choose three)

Options:

A) Support for Overlay Virtual Transport

B) On-premise and cloud-base analytics

C) Apply Insights

D) VXLAN support

E) Proactive approach to guided remediation

F) Network time travel

Answer:

A B, C

Question 5

Question Type: MultipleChoice




Which three options focus of the current digital business era'? (Choose three.)

Options:

A) loT scale

B) connectivity

C) virtualized services

D) automation

E) centralized enterprise and web applications

F) Human scale

Answer:

A C,D

Question 6

Question Type: MultipleChoice




Winch two primary categories are displayed on the overall health page of the assurance component in the Cisco DNA Center? (Choose
two.)

Options:

A) Wired

B) Client

C) Access-Distribution
D) Server

E) Network

Answer:

B, E

Question 7

Question Type: MultipleChoice

What are three ways in Which Cisco ISE learns information about devices? (Choose three,)



Options:

A) user authentication to the ISE

B) SMIP agents

C) RPC mechanism via HTTPS

D) traffic generated by the device

E) network servers the device has accessed

F) RADIUS attributes

Answer:

A D E
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